GeolLogPlot
(Scale: 5":100' (10'))

Digital Drilling Data
Systems, LL

State: Colorado
County: Weld
Country: USA

Company: Cathedral
Well: Frederiksen 1A-28H
Field: DJ Basin

Well ID: 400143158

Job Number: 115281
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Location: DJ Basin Elev KB: 4989
Operator 1: Otha McCoy Elev DF:
Operator 2: Aaron Evans Elev GL: 4976
Comment 1:
Comment 2:
Comment 3:
Comment 4:
Comment 5:
Hole Data Casing Record
Size From To Size From To
12.25 0 835 95/8 0 835
8.75 835 7518 7 0 7518
6.125 7518 11663 4.5 7518 11663
Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5
Tool S/N 1120 1120 1161 1120 1120
Cal Factor 4.56 4.56 4.56 4.56 4.56
Gamma Offset 33 49 40 40 40
Start Depth 835 4612 4860 4860 6998
Start Date 7/20 7/23 7/26 7/26 7/28
Start Time 18:00 3:00 3:00 14:00 5:30
End Depth 4612 4860 4860 6998 7543
End Date 7/23 7/25 7/26 7/27 7/30
End Time 18:00 18:00 12:00 19:00 6:00
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#100 TVD:6586.1 MD:6614.0 1:14.8 A:294.4 VS:-167.5

#101 TVD:6616.8 MD:6646.0 1:17.2 A:289.2 VS:-159.1

#102 TVD:6647.2 MD:6678.0 1:19.9 A:285.4 VS:-149.3)




|

6670

6680

6690

6700

6710

6720

anw A P AT A
| T”

=

6730

6740

6750

6760

6770

6780

6790

6800

6810

6820

6830

6840

6850

6860

T’ ’\T“LWWW "“memﬂ“?‘w"‘“m L

\

My

6870

|

6880

#103 TVD:6677.0 MD:6710.0 1:22.5 A:280.8 VS:-138.0)

#104 TVD:6705.4 MD:6741.0 1:24.6 A:278.8 VS:-125.7]

#105 TVD:6734.3 MD:6773.0 1:26.4 A:275.7 VS:-112.0

#106 TVD:6762.8 MD:6805.0 1:28.0 A:276.8 VS:-97.4

#107 TVD:6790.8 MD:6837.0 1:29.3 A:277.4 VS:-82.1

#108 TVD:6817.6 MD:6868.0 1:31.3 A:274.1 VS:-66.5

#109 TVD:6844.6 MD:6900.0 1:33.8 A:273.6 VS:-49.3

#110 TVD:6870.8 MD:6932.0 1:36.3 A:274.7 VS:-30.9




6890
#111 TVD:6896.2 MD:6964.0 1:38.4 A:275.2 VS:-11.5
6900
6910
6920 #112 TVD:6919.9 MD:6995.0 1:41.8 A:273.8 VS:8.4
#244 TVD:6925.4 MD:11663.0 1:03.2 A:260.1 VS:4623.7
R #243 TVD:6928.9 MD:11599.0 1:93.2 A:269.1 VS: 45599
\)930 ./ AZDY.O VO4051.Y
YA Zb‘d b VS:i4o01. U
[ A / VS:4469.1
WO AL
6940

rrL\JJ 1o, VIHL.U VI, I\Juguulal UI“\LI\)U vo uwuuu
IO VI U

kY
#ZU/ IVU 6Y45.3 MU: 1U4bd U I ':Jd / /-\d/d v‘J Vb d4dd /

#206 TVD:6947.7 MD:10430.0 1:94.7 A:273.6 VS:3391.7

6950 #205 TVD:6950.4 MD:10398.0 1:95.0 A:273.6 VS:3359:9

#204 TVD:6953.1 MD:10367.0 1:95.0 A:274.1 VS:3329.0

]
#203 TVD:6956.2 MD:10335.0 1:96.4 A:274.3 VS:3297I.2
6960 #202 TVD:6959.8 MD:10303.0 1:96.4 A:273.7 VS:3265.4

1
#201 TVD;6963,6 MD:10271,0.1:97.1 A:273.5 V$:3233.6

#200 TVD:6967.3 MD:10240.0 1:96.8 A:273.3 VS:3202.9

i 6970 #199 TVD:6971.3 MD:10208.0 1:97.5 A:272.6 VS:3171.1

#198 TVD:6975.5 MD:10176.0 1:97.5 A:272.3 VS:3139.4

6980 #197 TVD:6979.5 MD:10144.0 1:97.0 A:272.3 VS:3107.6
#196 TVD:6983.3 MD:10113.0 1:97.1 A:272.4 VS:3076.9

#195 TVD:6987.3 MD:10081.0 1:97.1 A:271.6 VS:3045.1

6990 #194 TVD:6991.1 MD:10049.0 1:96.7 A:272.0 VS:3013.3

#193 TVD:6994.6 MD:10018.0 1:96.2 A:272.5 V5129825
— #192 TVD:6998.0 MD:9986.0 1:95.8 A:273.0 VS:2950. 7
7000 #1971 TVD:7000.9 MD:9954.0 i:94.9 A:272.2 VS:2918. 9

#190 TVD:7003.4 MD:9923.0 1:94.2 A:271.8 VS:2888.0
#189 TVD:7005.6 MD:9891.0 1:93.6 A:271.8 VS:2856.0
#188 TVD:7007.6 MD:9859.0 1:93.8 A:272.2 VS:2824.1
7010 #187 TVD:7009.9 MD:9828.0 1:94.4 A:273.0 VS:2793.2

#186 TVD:7012.3 MD:9796.0 1:94.2 A:273.4 VS:2761.3
#185 TVD:7014.6 MD:9764.0 1:94.1 A:273.4 VS:2729.4
#184 TVD:7016.9 MD:9732.0 1:94.1 A273.8 V5:2697.5
#183 TVD:7019.1 MD:9701.0 1:94.2 A:273.6 V'S:2666.5
7020 #182 TVD:7021.2 MD:9669.0 1:93.5 A:271.2 V/S:2634.6
#181 TVD:7023.0 MD'9637.0 1:92.9 A'270.1 VS:2602.7
#180 1 VD:/7024.8 MD:YoUb6.U 1:9Y3.6 A:26Y.4 VS5:25/1.8

3.6
#179 TVD:7026.8 MD:9574.0 1:93.6 A:270.0 VS:2539.9
#178 TVD:7029.1 MD:9542.0 1:94.7

A 270.1 VS:2508.0

7030

#175 TVD:7037 0 MD: 9447 0 i 94 8 Al 270 8 VS 2413 4

7040 #174 TVD:7039.9 MD:9415.0 1:95.4 A:271.2 VS:2381. 5
#173 TVD:7042.8 MD 9384 01:95.5 A:271.3 VS 2350 6

#1000 | VU./U44.£ £9.U 1.00.U A.£/0.9

#172 TVD:7045.8 MD 9352 019

#171 TVD:7048.5 MD:9320.0 I*
7050 #170 TVD:7050.5 MD:9288.0 I:

53 A27
4.3 A:27
29 A2

((OQO(

#121 TVD:7056.0 MD:7281.0 1:78.9 A:275.8 VS:254.3

#128 TVD:7058.2 MD:7543.0 1:94.9 A:273.2 VS:515.3

7060 #122 TVD:7060.9 MD:7313.0 1:83.2 A:275.4 VS:285.8

#127 TVD 7063 3 MD 7461 0 1:92.2 A 274 3 VS:433.5

7070
7080
Gamma API (TVD) Track: 1 Depth
API 5":100' ([ 0")

0 250
250 500







